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June 23, 2021

Solutions

5. Calculate the future value of each annuity.

Rate of
Compound Interest | Compounding
Regular Payment per Year Period Time
) $1500 per year 6.3% znnually 10 years
b) 3250 every & months 3.6% semi-annually 3 years
<) $2400 per quarter 4.8% quarterly 7 years
d) §25 per month 29% nonthly 35 year
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6. Mike wants to invest money every month for 40 years. He would like to have
EY $1 000 000 at the end of the 40 years. For each investment option, how
much does he need to invest cach month?
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6. Mike wants to invest money every month for 40 years. He would like to have
(A $1 000 000 at the end of the 40 years. For each investment option, how
much does he need to invest each month?
a) 10.2%/a compounded monthly
b) 5.1%/a compounded monthly
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3. Calculate the present value of each annuity.
Rate of
Comp Comp
Regular Payment per Year Period Time

a) $5000 per year 72% annually S years PV._ ﬁ ', - ' + . n

b) £250 every & months 4.8% semi-annually 12 years L

<) $25.50 per week 5.2% ekly 100 weeks ———

d) $48.50 per mant h 23.4% manthly Zlye (-
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4. You want to buy a $1300 stereo on credit and make monthly payments over

2 years. If the store is charging you 18%/a compounded monthly, what will
be your monthly payments?
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7. Emily is investing $128 000 at 7.8%/a compounded monthly. She wants to
\Vithdraw an cqual amount from this ierCStIl’lcnt Cach month for thC next

25 years as spending money. What is the most she can take out each month?
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9. Charles would like to buy a new car chat costs $32 00U, The dealership offers
: car a1 24% or five years with
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Cash via bonk. loan
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